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1. A Pelton wheel  is  required  to developed  (4.5 MW) at  (400  rpm) operating under an 
available heat of (360 m). There are two equal jets and the bucket angle is (170o). The 
diameter of bucket pitch circle  is  (1.82 m). Taking  (k=0.85), Determine  (a) The overall 
efficiency of the runner and (b) the diameter of each jet. [Ans. (a) 0.9106 (b) 0.103 m] 

 
2. In a Pelton wheel, the diameter of the bucket circle is (2 m) and the deflecting angle of 

the bucket  is  (162o). The  jet has  (165 mm) diameter,  the water pressure behind  the 
nozzle is (700 kPa) and the wheel rotates at (320 rpm). Neglecting friction, find the power 
developed by the wheel and the hydraulic efficiency.     [Ans. 351.9 kW, 0.616] 

 
3. A Pelton wheel develops (8 MW) under a net head of (130 m) at a speed of (200 rpm). 

Assuming  ሺܸ݈݁ݕݐ݅ܿ݋	ݐ݂݂݊݁݅ܿ݅݁݋ܿ, ௩ܥ ൌ 0.98ሻ, ሺ݈ܿ݅ݑܽݎ݀ݕܪ	ݕ݂݂ܿ݊݁݅ܿ݅݁, ௛ߟ ൌ

87%ሻ, ሺܵ݀݁݁݌	݋݅ݐܽݎ, ߰ ൌ 0.46ሻ	ܽ݊݀ ቀܴܽ݋݅ݐ	݂݋	ݐ݆݁	݋ݐ	݈݄݁݁ݓ	ݎ݁ݐ݁݉ܽ݅݀
ௗ

஽
ൌ 1/9ቁ 

Determine  (a)  The  volumetric  flow  required  (b)  The  diameter  of  the wheel  (c)  The 
diameter and number of jets needed.        [Ans. (a) 7.51 m3/s (b) 2.17 m (c) 0.242 m, 3] 
 

4. A Pelton wheel has to develop (12 MW) under a head of (300 m) at a speed of (500 rpm). 
If  the diameter of  the  jet  is not  to exceed  (1/9) of  the wheel diameter. Estimate  the 
number and diameter of jets, diameter of the bucket wheel and the volumetric flow rate. 
Assumeሺܱ݈݈ܽݎ݁ݒ	ݕ݂݂ܿ݊݁݅ܿ݅݁, ௢ߟ ൌ 88%ሻ, ሺܸ݈݁ݕݐ݅ܿ݋	ݐ݂݂݊݁݅ܿ݅݁݋ܿ, ௩ܥ ൌ
0.97ሻ, ܽ݊݀ሺܵ݀݁݁݌	݋݅ݐܽݎ, ߰ ൌ 0.45ሻ. [Ans. D=1.32 m, d=0.147 m, n=4, and Q=4.63 m3/s] 
 

5. A Pelton wheel to be designed is to run at (300 rpm) under an effective head of (150 m). 
The  ratio  of  the  nozzle  diameter  to  pitch  circle  diameter  is  (1/12). 
Assumeሺܱ݈݈ܽݎ݁ݒ	ݕ݂݂ܿ݊݁݅ܿ݅݁, ௢ߟ ൌ 84%ሻ, ሺܸ݈݁ݕݐ݅ܿ݋	ݐ݂݂݊݁݅ܿ݅݁݋ܿ, ௩ܥ ൌ
0.98ሻ, ܽ݊݀ሺܵ݀݁݁݌	݋݅ݐܽݎ, ߰ ൌ 0.45ሻ. Determine (a) the diameter of the bucket wheel (b) 
diameter of jet (c) the volumetric flow rate (d) The minimum number of buckets required 
and (e) The power developed.        [Ans. (a) 1.55 m (b) 0.129 m (c) 0.694 m3/s (d) 21 (e) 858 kW] 
 

6. A jet of (75 mm) diameter strikes the bucket of an impulse wheel and gets deflected by 
an angle of (165o). The speed of the bucket is (45.5 m/s). Find the velocity of the jet for 
maximum efficiency and the power developed.       [Ans. 91 m/s, 1545 kW] 
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7. An inward flow reaction turbine having an overall efficiency of (75%) delivers (132 kW). 
The head is (9 m), the peripheral velocity of the wheel is (54 m/s) and the radial velocity 
is (18 m/s). The wheel runs at (120 rpm). The hydraulic losses in the turbine are (20%) of 
the available energy. Determine the discharge at the  inlet, the guide blade angle, the 
wheel blade angle and the diameter and width of the wheel. Assume radial discharge.    

ሾ࢙࢔࡭. ࡽ ൌ ૛	࢓૜/࢙, ૚ࢻ ൌ ૞૟࢕૝ૢᇱ, ૚ࢼ ൌ ૛૜࢕, ૚ࡰ ൌ ૛. ૡ૟	࡮,࢓૚ ൌ ૙. ૙૜ૠ	࢓ሿ 
 

8. A Francis turbine with an overall efficiency of (76%) is required to produce (180 kW). It is 

working under a head of (8 m). The peripheral velocity  is ൫0.25ඥ2݃ܪ൯ and the radial 
velocity of flow is൫0.95ඥ2݃ܪ൯. The wheel runs at (150 rpm) and the hydraulic losses in 

the turbine are (20%) of the available energy. Assuming radial discharge, determine (a) 
the guide vane angle (b) the wheel vane angle at inlet (c) the diameter of the wheel at 
inlet  and  (d)  the  width  of  the  wheel  at  inlet. 
ሾ࢙࢔࡭. ሺࢇሻ	૜૙࢕૝૞ᇱ, ሺ࢈ሻ	૜૞࢕૚૛ᇱ, ሺࢉሻ	૙. ૜ૢૡ	࢓, ሺࢊሻ	૙. ૛૙૜	࢓ሿ 
 

9. An  inward  flow  reaction  turbine works  under  a  head  of  (22.5 m).  The  external  and 
internal diameters of the runner are (1.35 and 1 m) respectively. The angle of guide vanes 
is (15o) and the moving vanes are radial at inlet. Radial velocity of flow through the runner 
is constant and there is no velocity of whirl at outlet. Determine the speed of the runner 
in rpm and the angle of vane at outlet. If the turbine develops (375 kW), find the specific 
speed. Neglect friction losses.         [Ans. 206.5 rpm, ૚ૢ࢕૞૜ᇱ, 81.6] 
 

10.  Two inward flow reaction turbines have the same runner diameter of (0.6 m) and the 
same overall efficiency. They work under the same head and they have the same velocity 
of flow of (6 m/s). One of runners A runs at (520 rpm) and has an inlet vane angle of (65o). 
If the other runner B has an inlet vane angle of (110o), at what speed should it run?  
                      [Ans. 600 rpm] 
 

11.  Water enters an inward flow turbine at an angle of (22o) to the tangent to outer rim and 
leaves the turbine radially. If the speed of the wheel is (300 rpm) and the velocity of flow 
is  constant  at  (3 m/s),  find  the necessary  angles of blade when  the  inner  and outer 
diameters of the turbine are (0.3 and 0.6 m) respectively. If the width of the wheel at 
inlet  is  (0.15  m),  calculate  the  power  developed.  Neglect  the  thickness  of  blades. 
ሾ࢙࢔࡭. ૚ࢼ ൌ ૞ૢ࢕૞૝ᇱ, ૛ࢼ ൌ ૜૛࢕૜૛ᇱ, ࡼ ൌ ૟૚. ૚૞	ࢃ࢑ሿ 
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12.  A Kaplan turbine develops (9000 kW) under a net head of (7.5 m). The overall efficiency 
of the wheel is (86%). The speed ratio is (2.2), and the flow ratio is (0.66). The diameter 
of the hub is 0.35 times the external diameter of the wheel. Determine the diameter of 
the runner and the specific speed of the runner.       [Ans. 5.005 m, 785.76] 
 

13.  A Kaplan turbine working under a head of (25 m) develops (16000 kW) shaft power. The 
outer diameter of the runner  is (4 m) and the hub diameter  is (2 m). The guide blade 
angle is (35o). The hydraulic and overall efficiency are (90% and 85%) respectively. If the 
velocity of whirl is zero at outlet, determine the runner vane angles at inlet and outlet 
and speed of turbine.                  ሾ࢙࢔࡭. ૝૜. ૡૡ࢕, ૛૛. ૙૟࢕, ૢ૝. ૚૟	࢘࢓࢖ሿ 
 

14.  A Kaplan turbine works under a head of (22 m) and runs at (150 rpm). The diameters of 
the runner and the hub are (4.5 m and 2 m) respectively. The flow ratio  is (0.43). The 
inlet blade angle is (163˚19′). If the turbine discharges radially at outlet, determine the 
guide vane angle and the outlet blade angle.   ሾ࢙࢔࡭. ૚ࢻ ൌ ૞ૢ. ૡ૞࢕, ૛ࢼ ൌ ૚૝. ૜૛࢕ሿ 

  
15.  A Kaplan turbine develop (7350 kW). The net available head is (5.5 m). Assume that the 

speed ratio is (0.68) and the overall efficiency is (60%). The diameter of the hub is 1/3 of 
the diameter of the runner. Find the diameter of the runner,  its speed and  its specific 
speed.                    [Ans. 6.69 m, 65.86 rpm, 670.37] 
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